L= g
LY %\ B2 q 1.

2x ¢

C&ty) = { ATy

(%) % (o,0)
D x4\ = (6,0
@) £a Bt
£ 0 Erxy) ¥o,0) -hinz Bk vk
Fo & tag) (o) o BYRIL T WY, EH yox
12522 (x4 )= (0,6) W Th BPT a0 4 (x2)=>(40)

T |
2
e K0x) = L = f o S0,
il_; o Lax) SL_; L A s

.2 Lo (o 9)=00,0) 2 Bk 2 (50,

(D & i

M £(>&"}\( RIS *3,:\;0( 1= R fﬁmf‘ﬁiﬁzéz

L A adp ey ) —addy _ 24 (4l )
L

Ay @RFY @Y Gy
R\ =
ot (=4




2) E(x,0), 280 =Tt (@BRE The = 4o B A%
IS %;—-o e Hn 2 s

7 ';,L(x,o‘3=0, -\’- (x o) = =—i~

,Lar
D Elo), 4% el R sTL © hEn s = O
=0 X' 02
y3
2.

'F (0/'}3"' '_\}q_ = 1' ’ 'Ea_(o/‘}\zo

B E (o) s S Th
'F(xlo‘)'— ;0
Loy = Qi T2 M) - L=

>0 x 250
'G (0 0\32 Q}w ﬂo,'j\—'cfo,ﬁ\ = \ 'O_ =0
¥ 40 g’ y>o 9

| (271 (h%, 4—;2-05 8

r=rend .
2-='9f°h‘}\, {1—“-:.9.»':9 2 /é;i@ﬁ’ﬂe 2%

cr'){ ~wé} ii,}:——vmfué‘
= o8
t%.2

%Y—; !;7&9(\’*— 'F-a,‘é-r:: 'got_mg + '9\3,/’-"""6
2, = ‘g',c?(@—!— &}%& = v[- szwia +§}m43 E




CZS c_\‘) o 51:2'.% .

2= r(~ J@ /wé —(—,(l mﬁ—\

o /*f'*'@ ‘I);'(LP) TH: B
e z":ﬂ > = }(‘Y.') \,/Z’i&?}

. é“> "L’*e-éo \4'_> C}Q _“X_Qj- _\




